Unit 2, Week 2

Spelling Rule:  Contractions

A contraction combines two words. To form a contraction, smash the two words together and change the second vowel to an apostrophe.  

Ex. it + is = it’s

Exceptions: When you smash two words together like in "can + not" there will be two 'n's, so you will just get rid of one of the double letters and the 'o' becomes an apostrophe. It becomes can’t.

When you smash with the word “will”, the ‘wi’ are both replaced with an apostrophe. 

Ex. I + will = I’ll

Spelling Words:                                                                                       

1. can’t


2. it’s

3. he’s

4. I’m

5. didn’t

6. who’s

7. she’s

8. aren’t

9. isn’t

10. haven’t

11. hadn’t

12. I’ll

Challenge Words:

1. wouldn’t

2. where’s

3. she’ll

4. shouldn’t

5. there’s

6. they’ll

7. great 

8. worst

9. you’re

10. certainly

11. either

12. laugh

